24. A company shows the following results for two periods:

Period Sales Profit
I Period Rs. 20,000 Rs. 1,000
Il Period Rs. 10,000 Rs. 400

'Calculate:

(@ P/Vratio

() TFixed cost ,
() BEP

(d) Profit when sales are Rs. 30,000
@@ Slpo  Geéraumn - Qran®  sromsEREsTaT  eleughismar
sT_(hdmg :
stow  eipumer  Gerub.
I . 20,000 em. 1,000
IT 5. 10,000 @5 400
SemaEI [ :
(=) Qoru serey g
(%) Beveowiman Qeaa A
(@) @oruplt wHn Leref
(F)  epuaan g, 30,000 @@éEHL Aumps Gaomud
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Time : Three hours

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.

1.  What is cost sheet?
IG5 &L;_siicbsm GTGITDITED GTGITGHT?
2.  Define Job costing.
uenfl seuréSwicd cuanmuig.
3.  What is contract costing?
RUIUIBE SERTEENIC) GTEITLIG| WITg)?
4.  Give a short note on work certified.
grenpafiiiy Geumer LB Hy GHLIY SwHs.
5.  Define Process costing.
L penm SaRTHEIUIG cuenywim.

6.  Mention any two advantages of process costing.

Lig penm semrsSlued peneansaiisr gCaaib QramaL GHLaHs.

7. What is operating costing?
Quss L_ssefiLc erenmmed erenen?
8.  What are standing charges?

Fleneowimarn &L emrmbiser eTeiane WiTaneu?

9.  Define Marginal costing.

IUGD SLsseflud LHH cuETLI.

Maximum : 75 marks
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10.

11.

12.

13.

14.

15.

What is key factor?

&S sTrent cTanmTed cTemen?

Give the formula for computing EBQ.
EBQ sansf(peugnanes @sHisms 5ms.
Write a short note on Cinema theatre costing.

HevquriuE s ssafwe upi Ap GO T (PEIs.

PARTB —(6x5= 25; marks)
Answer any FIVE quéstions.
State the objectives of job costing.
uefl samraslwellen Cpréshismer efleufl.
Distinguish between Job costing and contract costing.
vl a;aﬁésé]u.u@é;@m, RUILHS SaRTéHEILIEI&HED &&m Ceumuim(® wing)?

Calculate cost of each process and total cost of product1on from
the data given below:
ProcessI Process II Process III

Material - 2,250 750 300

Wages - 1200 3,000 900
Direct expenses 500 500 . 500
Works overhead 1,890 2,580 1,875

Other indirect expenses' of Rs. 1,275 should be apportioned on

the basis of wages.

Qemeupd  edeupiisemer  Qaman®  geuQeun  Ligpanpudien

SIL&s5mSWL|D LHYID 2 PusHuder QIEs DLE&SMSWD SaTESE[H
ugapenp I ugaenp II ugapenp 111

epeoLIQUIm(HET : 2,250 750 .300
Fa.60l ' 1200 3,000 900
Gy Aeeeyser 500 500 ~ 500
Gauene Cupleweyser - 1,890 2,580 1,875
smedluden igliuenufed LfTuGb QT waDps Wswaysafiar WL
@5. 1,275 op@w.
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23. From the following data relating to vehicle X calculate the cost
per running kilometer and Tone per km.
Vehicle X
Kilometers run (ann,uai) 15,000
Tones per km (average) 6
Cost of vehicle Rs. 25,000
Road license (annual) Rs. 750
Insurance (annual) Rs. 700
Garage rent (annual) Rs. 900
Supeérvision and salaries Rs. 2,400
Drivers wages per hour Rs. 3
Cost of fuel per litre Rs. 3
Kilometers run per litre 20
Repairs and maintenance per km Rs. 1.75
Tyre allocation per km 90 paise
Estimated life of vehicle 1,00,000 kms
Charge interest at 5% pa. on cost of vehicle. The vehicle runs
20 kms per hour on an average
auary. X &@ AsmyemLw efleuphser Gemeu(mLomm. cm&'vrq. @O @
&G Bt opmybd HCeorr LBl_ur Lengsellgid 2L &&50S sarsd (5.
cuatry X
2O HCw L i (e (HéE) 15,000
Lengafleh m HCeom B L& (&rjrra:rﬂ) 6
cuaTiq U6l B &&LD L a@p. 25,000
grene 2 M (ye@m[HEE) em. 750
STUSH (AITHES) . 700
Quirh cuetmng QBT _tg.6 curL_ens 5. 900
Gupurianey HEILD FOLIGTLD . 2,400
@ wearflssmen L Har saed . 3
erflummer e S L (hé&E 5. 3
T @m L (h&E @O HCem S 20
@@ HCerm 8L L pésrar LpgLMTUY LHHIL uFTAly . 1.75
2@ G B L (éE LwmasTan 81650 90 enuusw
- Guatrig et AN LIC L @pu 6T 1,00,000 &..§

auamy Al 185 5% el cuigalss. syrefluns QuekTly. (5 toanfl

CrrsdsE 20 HGar B L it @HEDE!.

7 60147/BPZ6A/BPF6B/
BPG6B



Quid Bmid emsudHriy 1,35,000
Qa;fr@ul_ Cauairig L Fned) . 36,000
QarBuL Ceuamg.w Chrig Cewe)sar - - 27,000
grenpeflssuL_mg Lienfl 95,400

Qpréasid Quppg (80% srenpafidsu’ L uefl) 9,00,000

@ULIbS samdamds Futiéss. @muy flows @Goilinded Qsm_fyemLuw
eurrisener & [Hs.

22. A product process through three processes I, II and III, from the
following information prepare the process accounts assuming
that there were no opening or closing stocks.

Process I Process II Process II1

- ‘ Rs. Rs: Rs.
Materials 1,000 1,§00 500
Labour 5,000 8,000 6,500
Overheads " 1,050 1,188 2,009
Actual output (units) 9,500 9,100 8,100
Normal loss 3% 5% 8%

The wastage of process I was sold at 25 paise per unit, that of
process II at 50 paise per unit and that of process III at Rs: 1 per
unit.

Raw materials of 10,000 units were introduced into process I in
the beginning at a cost of Rs. ‘1 per unit.

@@ daer@ur@mer Ligapay epery Lgapmpsmer I 1T whgn I
aens Caravwr@ererg). Geeugpd efleupmisamer Csram® CsTL&s
sTaAHLLY Sihg Qnd sTEHmLY Bdamed Tar LigpaD Sasms.

suwirflgs.
Liig(pen(p Llig (Lpenm Uig1penD
| II 111
. . © ; €.
epeLIQum(peTS6T 1,000 1,500 . 500
2 anLpliL| :5,000 8,000 6,500
CunQsveyser 1,050 1,188 2,009
2 @renLowimen Qeuafium@ 9,500 9,100 8,100
(SI@ser)
SMSTTeRT BL_LID 3% 5% 8%

ugapenp I & gpute sflmen @m AVGEG 25 emust aerab,
ugapenp II , & m S0EsEE 50 eusr wpmib ugwen I & ¢
SIVGEG, 5. 1 eramajd elpaiil L g).

g apenm I et pridusHed epeos@umrer 10,000 Sje@s6r i@ geatn
. 1 aram Pl psLBSSULLF).
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16.

17.

18.

19.

Pankajam travels employs 5 buses which run over a route of
140 kms (one way), making one round trip per day. The buses
run 360 days.per year and 10% of them on average are laid out
for repairs. Ascertain the total running _kjlometers per year.
ulsgD uwer ghurLreriser 5 Cumpbgisamer 140 £.5 (@ aufl)
afsLsde @Gurn LwaLESSdng, @6 BrEaEG @6 SO
Qedlpg. @f wa(&EE 360 BT s@Esnd CumbgIsT @O&larpar.
wHmb @ 10% syrefurs LWHUITTULIEES AGW. RT BEHT(HESG
@0 Qurss HCor B Ly sarssl(.

From the following particulars, calculate the break-even point:
Variable cost per unit Rs. 24

Fixed expenses Rs. 1,20,000
Selling price per unit Rs. 36

Qemaumd  efeupiigenar Qaram® @eru  BLLWHD Yerafleanw
sanEd (Hs.

wIUGL QFwe R AVGES . 24

Flenawiren Qgee,ser ep. 1,20,000

eAphuenar clana b SVGES 5. 36

What are the advantages of marginal costing?

LIMUBLD L &&56S1IeN6 HETEMLOSET LITENGU?

The following particulars are related to contract undertaken by
Ram Construction Ltd. Plant purchased Rs. 60,000; Wages paid
Rs. 3,40,000; Overhead apportioned Rs. 40,000; Material issued
to site Rs. 3,36,000; Plant at site Rs. 48,000; Work uncertified
Rs. 20,000; Cash received Rs. 6,00,000 (being 80% of work
certified).

Prepare contract account.
gmb s_(Horen B aHSgs Caram _ @UUBSD. GgrmLw
efleuymigar emeuHLomm)
Quml eurmdlwgy 5. 60,000; saed QeasHwg . 3,40,000;
CupQsweysar udliey 5. 40,000; . G QLESDE efss
epliQummer @m. 3,36,000; Gouamer QL Qumhl em. . 48,000;
granpefilQerenm Ceuenew . 20,000; Quésid Qupmg m. 6,00,000
(ememmefiliL) 80% yELb).
RULHS Seamsems ST Qawis.
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PART C — (3 x 10 = 30 marks) : 21. Arun Kumar undertook a contract for the construction of houses
on 1st January, 2008.

»Answex" any THREE questions. _
The contract price was Rs 22,50,000.

20. From the following details, prepare a cost sheet:
_ ‘ ¢ it oy The following figures are available for 2008:

Rs. Rs
Raw materials purchased 2,40,000 : Materials purchased 3 60.000
Direct wages 2,00,000 Materials issued from stores " 45,000
Carriage inwards 2,880 Labour ; 1,35,000
Stock of raw materials 31.12.2010 44,480 : Plant installed at site 1,80,000
Stock of finished goods 31.12.2010 (400 tons) 64,000 _ Direct expenses 90,000
T e il 96,000 Establishment charges 22,500
Sales (3,800 tons) : . 6,60,000 Materials returned to stores 22,500
. Materials on hand at the end 9,000
Stock of raw materials 1.1.2010 40,000 .
Stock of finish Plant in hand at the end 1,35,000 -
tock of finished goods 1.1.2010 (200 tons) 32,000 ‘ Wages outstanding 36,000
Work in progress 1.1.2010 : 9,600 . Direct expenses outstanding 27,000
Work in progress 31.12.2010 32,000 Work uncertified 95,400
Administrative overhead 66,000 Cash received (80% work certified) 9,00,000
lehreu(mLd clleurtiGEmeT QST SIL586 il L ULt Swi Qs Prepare the contract account. Show the relevant items in the
. Balance sheet.
eolQuImese aumiidug 2,40,000 1 garaufl 2008 seny siGam@wnt @ oo s Gaspsna
' ' : @UUBSSMS eT(HSS T
G Snedl i 2,00,000
A SUILBS eflena @5, 22,50,000
2_GTHN&E sl ‘ 2,880 . S P ,
: 2008 - & flenL_gg efleuriiser 9emeuBOTL .
epeu@urmer @iy 31.12.2010 44,480 )
oL bs sr&slen @iy 31.12.2010 (400 Langar) 64,00.0 p@UIALITHET euTA L) 3,60,000
<ma CopEgweaser 96,000 LSl mhg sefiss aporiQur@mearser . 45,000
aflpuener (3,800 Lensar) 6,60,000 2 el ‘ 1,35,000
epelQummersar @mtiy 1.1.2010 40,000 Cama QLEHD QurEEsLLL QU 1,80,000
wyeueLpbg sr&dlen @muy 1.1.2010 (200 Lenser) 32,000 Gy Qraeyser , 90.000
uenfl auenad 1.1.2010 : 9,600 CamhmiefitiLé s L e 22;500
uenfl euermed) 31.12.2010 : 32,000 ALEsE Sy en@unmaser 22,500
Blireurs CuhQseweyser ‘ 66,000 ep@rAUTmeT s esudmriy 9,000
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